

Fourier Transform - review  

$$F(u) = \Im\{f(x)\} = \int_{-\infty}^{\infty} f(x)e^{-j2\pi ux} dx$$
1-D:  

$$f(x) = \Im^{-1}\{F(u)\} = \int_{-\infty}^{\infty} F(u)e^{j2\pi ux} du$$
F(u,v) =  $\iint f(x,y)e^{-j2\pi(ux+vy)} dx dy$   
2-D:  

$$f(x,y) = \iint F(u,v)e^{j2\pi(ux+vy)} du dv$$
2D Fourier Transform



















Consider a sequence {u(n), n=0,1,2,...., N-1}. The DFT of u(n) is

$$v(k) = \sum_{n=0}^{N-1} u(n) W_N^{kn}, \qquad k = 0, 1, \dots, N-1$$

Where  $W_N = e^{-j\frac{2\pi}{N}}$ , and the inverse is given by  $1 \sum_{k=1}^{N-1} (k) W_k^{-kn} = 0.1$ 

11

$$u(n) = \frac{1}{N} \sum_{k=0}^{N} v(k) W_N^{-kn}, \quad n = 0, 1, \dots, N-1$$
2D Fourier Transform

$$\frac{2-D \text{ DFT}}{2}$$
Often it is convenient  
to consider a  
symmetric transform:  

$$\begin{aligned} v(k) = \frac{1}{\sqrt{N}} \sum_{n=0}^{N-1} u(n) W_N^{-kn} \quad \text{and} \\ u(n) = \frac{1}{\sqrt{N}} \sum_{n=0}^{N-1} v(k) W_N^{-kn} \\ u(n) = \frac{1}{\sqrt{N}} \sum_{n=0}^{N-1} \sum_{n=0}^{N-1} u(n,n) W_N^{-kn} W_N^{-kn} , \\ u(n,n) = \frac{1}{N} \sum_{k=0}^{N-1} \sum_{l=0}^{N-1} v(k,l) W_N^{-kn-ln} \\ u(n,n) = \frac{1}{N} \sum_{k=0}^{N-1} \sum_{l=0}^{N-1} v(k,l) W_N^{-kn-ln} \end{aligned}$$

























































